

Evolutionary eq. for temp. field

$$\frac{\partial T}{\partial t} + \vec{v} \cdot (\vec{\nabla} T) = D^{(0)} \Delta T$$

Mean field approach: $\vec{v} = \vec{v} + \vec{u}$ Reynolds $\langle \vec{v} \rangle = \vec{v}$; Rules $\langle \vec{u} \rangle = 0$; $\langle \vec{u} \vec{u} \rangle = 0$

Mean field eq.: $\frac{\partial T}{\partial t} + \vec{v} \cdot (\vec{\nabla} T) = D^{(0)} \Delta T$

Evolutionary eq. for temp. fluctuation: (1)-(2)

$$\frac{\partial \theta}{\partial t} + \vec{v} \cdot (\vec{\nabla} \theta - \langle \vec{u} \theta \rangle) - D^{(0)} \Delta \theta = -\vec{v} \cdot \vec{u} \bar{T} = -(\vec{u} \cdot \vec{v}) \bar{T}$$

one way coupling: $\vec{u} \rightarrow T$; $T \not\rightarrow \vec{u}$

Dimensional Analysis: $\frac{\theta}{\theta_0} = -(\vec{u} \cdot \vec{v}) \bar{T}$

$\theta = -\tau_0 (\vec{u} \cdot \vec{v}) \bar{T}$ $\langle \vec{u} \rangle = u^2$

$\theta_0 \gg 1 \rightarrow \theta_0 = \tau_0 \rightarrow \theta = -\tau_0 (\vec{u} \cdot \vec{v}) \bar{T}$

Isotropic turbulence: $\langle u_i u_j \rangle = \frac{2}{3} S_{ij} \bar{u}^2$; $\langle u_i u_j \rangle = -\tau_0 \frac{2}{3} S_{ij} \bar{u}^2 \bar{T}$

$\langle \vec{u} \theta \rangle = -D_T \vec{\nabla} \bar{T}$; $D_T = \tau_0 \frac{2}{3} \frac{u_0^2}{3}$

Evolutionary eq. for particle number density

$$\frac{\partial n}{\partial t} + \vec{v} \cdot (\vec{\nabla} n) = D^{(0)} \Delta n$$

Mean field approach: $\vec{v} = \vec{v} + \vec{u}$ Reynolds $\langle \vec{v} \rangle = \vec{v}$; Rules $\langle \vec{u} \rangle = 0$; $\langle \vec{u} \vec{u} \rangle = 0$

Mean field eq.: $\frac{\partial n}{\partial t} + \vec{v} \cdot (\vec{\nabla} n) = D^{(0)} \Delta n$

Evolutionary eq. for particle number density fluctuation: (1)-(2)

$$\frac{\partial n'}{\partial t} + \vec{v} \cdot (\vec{\nabla} n' + \langle \vec{u} n' \rangle) - D^{(0)} \Delta n' = -\vec{v} \cdot \vec{u} n = -(\vec{u} \cdot \vec{v}) n$$

one way coupling: $\vec{u} \rightarrow n$; $n \not\rightarrow \vec{u}$

Dimensional Analysis: $\frac{n'}{n_0} = -(\vec{u} \cdot \vec{v}) n$

$n' = -\tau_0 (\vec{u} \cdot \vec{v}) n$

$n_0 \gg 1 \rightarrow n_0 = \tau_0 \rightarrow n' = -\tau_0 (\vec{u} \cdot \vec{v}) n$

Isotropic turbulence: $\langle u_i u_j \rangle = \frac{2}{3} S_{ij} \bar{u}^2$; $\langle u_i n' \rangle = -\tau_0 \frac{2}{3} S_{ij} \bar{u}^2 n$

$\langle \vec{u} n' \rangle = -D_T \vec{\nabla} n$; $D_T = \tau_0 \frac{2}{3} \frac{u_0^2}{3}$

Evolutionary eq. for temperature fluctuation

$$\frac{\partial \theta}{\partial t} + \vec{v} \cdot (\vec{\nabla} \theta - \langle \vec{u} \theta \rangle) - D^{(0)} \Delta \theta = -\vec{v} \cdot \vec{u} \bar{T} = -(\vec{u} \cdot \vec{v}) \bar{T}$$

one way coupling: $\vec{u} \rightarrow T$; $T \not\rightarrow \vec{u}$

Dimensional Analysis: $\frac{\theta}{\theta_0} = -(\vec{u} \cdot \vec{v}) \bar{T}$

$\theta = -\tau_0 (\vec{u} \cdot \vec{v}) \bar{T}$ $\langle \vec{u} \rangle = u^2$

$\theta_0 \gg 1 \rightarrow \theta_0 = \tau_0 \rightarrow \theta = -\tau_0 (\vec{u} \cdot \vec{v}) \bar{T}$

Isotropic turbulence: $\langle u_i u_j \rangle = \frac{2}{3} S_{ij} \bar{u}^2$; $\langle u_i \theta \rangle = -\tau_0 \frac{2}{3} S_{ij} \bar{u}^2 \bar{T}$

$\langle \vec{u} \theta \rangle = -D_T \vec{\nabla} \bar{T}$; $D_T = \tau_0 \frac{2}{3} \frac{u_0^2}{3}$

Evolutionary eq. for particle number density fluctuation

$$\frac{\partial n'}{\partial t} + \vec{v} \cdot (\vec{\nabla} n' + \langle \vec{u} n' \rangle) - D^{(0)} \Delta n' = -\vec{v} \cdot \vec{u} n = -(\vec{u} \cdot \vec{v}) n$$

one way coupling: $\vec{u} \rightarrow n$; $n \not\rightarrow \vec{u}$

Dimensional Analysis: $\frac{n'}{n_0} = -(\vec{u} \cdot \vec{v}) n$

$n' = -\tau_0 (\vec{u} \cdot \vec{v}) n$

$n_0 \gg 1 \rightarrow n_0 = \tau_0 \rightarrow n' = -\tau_0 (\vec{u} \cdot \vec{v}) n$

Isotropic turbulence: $\langle u_i u_j \rangle = \frac{2}{3} S_{ij} \bar{u}^2$; $\langle u_i n' \rangle = -\tau_0 \frac{2}{3} S_{ij} \bar{u}^2 n$

$\langle \vec{u} n' \rangle = -D_T \vec{\nabla} n$; $D_T = \tau_0 \frac{2}{3} \frac{u_0^2}{3}$

